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HEZETLRIE 5L +1. 8% +2.6% +0.9% A0.5% +4.8% +6.4% +3.1% +2.6% +1.1% +1.3% +1.6%  A1.2%
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B IE 55k +0. 0% +0.9%  A1.0% A2.4% +3.1% +5.0% +2.3% +2.0% +0.6% +1.3% +1.9%  A0.4%
= A2. 7% A06%  A32%  A34%  A30%  A18%  A55%  A4T%  A61%  A52%  A37%  Ab54%
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DCS EE/E-AE =Lk +0. 4% +14%  A02%  A2.2% +2.9% +4.9% +2.5% +2.2% +0.9% +1.6% +1.7%  A0.6%
= A2 8% A04%  A30%  A34%  A32%  A19%  A56%  A48%  A59%  A51%  A37%  A52%
EXC EEE-MBE 5L A1.8% A21%  A5.0% A3.2% +4.7% +5.1% +1.9% +1.5%  A0.9% +0.1% +3.1% +1.0%
= A2.2% A1T%  A48%  A31%  A14%  A0T%  A41%  A41%  A66%  A56%  A36%  A6.0%
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BICHEBERIFLIZLOD, EHEXEBICHE TS EFBRICHEBLTVET, RC 0 5 179
EXC FC 0 0 28
RC 0 1 103
B SHADOELGHER MAU FC 0 0 0
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RYIPpFTN—T T v— RC 1 2 42
&t FC 4 12 1,027
7/20 DOUTOR 7ARI—E— RC 1 8 331
#w F 5 20 1,358




